N
i“g%

UV

;.;

\8

| i
anualy 7 T8

+ Subtraction without Regrouping

I. Subtract by crossing out tens and ones.

fa
NG|

\N

T

a) 48-16 |=32 b) 36-21 |=]S
XX : o K o
gz | L e |
Cross out | t:n :
and 6 ones since
16 = I ten + 6 ones
Q) -1 =19 d| 47-24 |=93
. , O D’
T T W T T
0% |l /
¥er
/ R

2. Write the number of tens and ones in each number. Then subtract.

a) 49 = 4 tens + 9 ones b) 50 = 5 tens + A ones
— 26 = 2 tens + 6 ones — 23 = X tens + 3 ones
= 2 tens + 3 ones — 3 tens + QJ ones
— =—r =
c) 67 = 6 tens + 4 ones d) 86 = 6 tens + 6 ones
—53= 5 tens + 3 ones — 54 = 5 tens+L‘( ones
= I ten +- 1’/ ones = 5 tens + g ones
_ 457
e) 97 = q tens + 7/ones f) 81 = g tens + one
— 56 = 6 tens + é ones - 6l = 6 tens + one
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NS3-I5 Subtraction with Regrouping—Tens

I. Regroup | tens block as 10 ones blocks.

Before After

==} ggonon

=] ooo

o ogoo

" a) 36 H”H a HH oo

3 tens+ 6 ones Q tens + ‘6 ones

ua ooon

oo gooo

7] gono

b) 27 ” “ ” amn

jr ten + ‘/2 ones

‘O

&

u tens + — ones __3___tens+_£_ones
2. Regroup | ten as 10 ones.

o [Txin| ETiel Bgel (e [IfE]
FA A TN (R [T
=.| 5803 - 148 119 — | 4i} ~ | Ff 80N
d1A L9 L1 0% L=

hl i oie| igimiml gt TAFE [ i i

5 DL LA 2| B 33 %

-1316 -1218 ot 5 = 25 - 1416
Y aa | o 6 % ~ 7

ol D3I AR SR T wep TS
L R 8 3 LUR" AN SR

-121|7 — .38 8 b5 17 =489 e e e
A5 I 5 . SH BE

Number Sense 3-I5
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NS4-16 Subtraction

To subtract 48 — 32, Braden makes a model of 48.

Then he crosses out 3 tens and 2 ones because 32 = 3 tens + 2 ones.

Il

g

uin]
=}
o
(=]
o

48 48 — 32 = 16
1. Subtract by crossing out tens and ones blocks. Draw your final answer in the right-hand box.
a) 39— 18 =23 25— 11 = [Yf
o o Do
0) d) a
o
3
&
2. Write how many tens and ones in each number. Then subtract the tens and ones to
find the final answer.
a) 45= 4 tens+_5 ones b) BE— _5 tens + Z ones ¢) 84 = _?_ tens + _ﬁ ones
— 32= _3 tens+_2 ones — 34 = _&tens + _L_Lones — 63 = _é_tens +iones
= 1 ten + _3 ones = _,% tens + Z)_ ones — _4: tens + _Z_ one
L 78 ~ AT i)
d) 89 = i tens + ﬁ ones e) A= __Z tens + Z ones f) 67 — _@_ tens + Z ones
- 56=é~tens+_(;__ones - 44=_L/_tens+_’_~l_ones — 45 = L/ tens + §ones
= _/)l tens + i ones = _3__ tens + _'?_ ones 9\ tens + Q»ones
g = 2% X
40 Number Sense 4-16
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NS4-20 Estimating Sums and Differences \

Mathematicians use the sign ~ to mean approximately equal to.

1. Estimate by rounding to the nearest ten.
a) 52— by 19 -® c) 4717 »| 40| o 95

10 | 90
130

Elm
(&)

e) 32+ 11 fy 74 + 32 g) 37 +25 h) 84 + 28
~ 30 +10 z70+’50 = )O‘\‘()\.O zE;Oi{&O
. 106 - 50 - \@

i) 25+ 37 +59 j) 28 —-12 k) 36 +63+72 -I) 85 — 17 it
~ 9\®+30’r50 ~ 20— “2 (r'"/—

=100 =00
2. Estimate by rounding to the nearest hundred.
a) 170 200 b) 190 @L@@ c) 470 S0n| 9 950 |, 000
4350 +| 400 +650 +|7Z00 ~ 110 ~ 620 vl oL

600 0q] m | &)

f) 550 + 330 g) 210+ 770 h) 750 + 220
\»?/J N A A7 3,,,:_
o L/\] / — (A = ,('\:

L8000
AR A2

£ )| 380 +420 + 190  §j) | 871 — 543

k) 1483 + 283 £1) |689 - 214

0000
\AA 3]

3. Estimate by rounding to the nearest thouAsand.

a) 1275 1000 | b) 4729 |SO00| o 2570 |S000| 9 9172 {4000
o

N R TR Ty S

+a040 | 2poa | | isusa + 634 +]600 4529 00l %

5000 000 3000 ¢

4 Round each number to the nearest hundred. Then find the sum or difference. g

vy a) 3272 +1235 = b) 3581 — |1 58%% -‘»[ 0 c) 4821 —3670= 3
vy O ~ ; B kg [ R 2 = 4 &
VA 23004+ 1400 = 4500 3600, 00 4400 - 3700= 7100 $
£

8

Number Sense 4-20
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1-17 Subtraction with

e

i

€

1
i

W Waol l?/“ut (

- \
\
&//khMOfy

Regrouping

a ¥ !
¢ L

Jax subtracts 46 — 18 using base ten blocks.

Step 1:

Jax represents 46

with base ten blocks.
Tens Ones
4 6
H” ”” x
]
o
o
o
Here is how
Jax uses 46
numerals
fo show ;1§
his work:

Step 2:

8 (the ones digit of 18) is

greater than 6 (the ones digit

of 46) so Jax regroups
1 tens block as 10 ones blocks.

Tens Ones
3 16
”” U gooo
oog
ooo
goo
ooo
Here is how 316
Jax shows g4
the
regrouping: ol

Step 3:

Jax subtracts 18 (he
takes away 1 tens block
and 8 ones blocks).

Tens Ones
2 8
” ”ﬂ Dg
oo
og
]
o
And now 316
Jax can subtract @
16 — 8 ones 18
and 3 — 1 tens:
28

COPYRIGHT © 2018 JUMP MATH: NOT TO BE COPIED.
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1. Regroup 1 tens block as 10 ones. Then change the subtraction statement.
a) 63 —26 b) 64 — 39
[ Tens | Ones “t| Tens | ones Ll i ek ohie JIf ®ns | ones N
6 3 5 13 6 4 =3 14
”H””H” : ””””” - ”””””” : UU””” o
o ooo o oog
oo o ooo
oo oo
5113 5 1Y
6 3 —s -4V 4 6 4 —s Q9
P R D) = 20406 319 Faif 3119
iy 15
c) 42-19 d) 35— 27
L Tens | Onest Tens | Ones‘] L Tens | Onesj I_Tens | oOnes j
4 2 2 L 3 5 i 15
0o 111 gl AOD
el BO5 5= izw 0
= 8P I \ 0O
> 0o ’ (11 | C
| o0 upy L i
0
Sl
A = g e
e 1 109 — g
42 Number Sense 4-17
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-----------

5)) 52§15§

|
J

VA G .:"_
; U\ VI VY y
“\J /

-----------

...........

___________

-----------

...........

s 2
KX 512
Sl - 131
158 a7

i RCATE S (R
% % N %

T L7 - 3. q
OlZ 518
Nl LT
912 8 +
el R -13|7
g 5l

0.

62

ey \/{é‘ j;,“f

% 5y A0
| ?} Q G40,

-----------

e |

-----------

6 (®

=421 5

4 3

o P
-6
seadnd S

-----------

% 6
~l21|9
3| H
gl
e

E

...........

...........

)

-

OK

O

-----------

-----------

...........

-----------

o[ 1%

...........

£ 7.]Do you need to regroup the top number in this question? Explain.

/)

Q,\\l‘

Number Sense 3-I15
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o) 575/2§

 fiil o8

2 q

9 iaiQ]
2 N2

= 218

0 [6

o[ T o [T

---------------------

......................

-----------------------

b=

-----------

___________

-----------

4. Circle the greater digit in the ones place. Regroup if you need to, and
write “regroup.” Otherwise, write “OK.”
q) § 2 F I5 f reqroup b) ; &: 3: oK
bl < (®
- | ( : ) —-1215
Gt
TR W QSV oup o izigl OW
3.2 5(8)
-12(6 12w
1.6
f) o rear‘ou@
----------- R v
A2
NG
it
64 Number Sense 3-15
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To subtract from 100, you need to regroup from the hundreds before you can
regroup from the tens. Example:

Step I: Step 2 Step 3: Step 4
HERE @ GNEE @ DEDNE anw
b S b0 ol i toisdio:
1 00 A RO y4v.47 4 ydr4v.4
LT Tala el Bl e 79 [ o 5 R
i 2 5.2
| q. Subtract by regrouping
o T e e T e T e

oy
| 75
e
'
i
75
e
-
7S
e
:
:(:3
7
:\
15

SRR T LR Nala
~ 4|7 - 5 |2 - 6|5 - @A
0118 Q{48 O35 ol 11
10. Now subtract from 99 without regrouping. .
a) 919 b) 9|9 9) 9|9 d)

g9
- 4 7 — 1512 —~ 165 bl g
5|8 4 7 =24 g0

{ To subtract from 100, first ;ubtfd\ct from 949. Then add | to your answer.

q'q—"ﬂ‘f“—‘v 1lolo

£ Il. Subtract from 99. Use the answer to subtract from 100.

a4 9 q b) q]q S) q q d) q q

g a7 L2 —-1516 9 by

53 6 o 7 E 2|

8 0o -w- B8 Wo2-6F3 boaseod Tt w0-W=FD
Number Sense 3-16 649



3. Subtract. Regroup | hundred as 10 tens, or | ten as 10 ones.

™~
L e ‘ e ®
P jnjefcl ] e i) {Dig T s e
e st g P
S iof| O] =i |0l | Oip|e|lO et ik P <Cig i ~ |
= o SN N[0
1 L] 1 -
AN (RS IR A 7 A 1 e R " o A - AN Y] FAS
SR R ] b jaRinm
P - ' 1 1
| _ | S s
o =y = B 5
- ] g e ———— (- - 1 [ N . peeessymeme—-,
H H H H i 1 - 1 .Q.Z om 1 1 1
P91 o TN ! wo|ed P oo — boeetomnd Toa g BT
”.Hw.._v& il bonomd L: P NI N[ \
1 ' 1 i PR Ty | ]
E LR AL RR =Bl REIE kgt ihalO
1 1 ' 1 1 ' Q! o Gl ' 1 1
im0 b SRR N SRR LT
7 k™, 2a
_ /_ _ W ||||||||| “ " n _
e £ B Bl
° o e S i~ e i
P il . O 4 bemri My
", m6 n 4_ L ."4 N |C 25 3. ¥ Ren & e .w s ® |G|
....lal. .ﬂDl. I i o w“ " " _ : " “ H
ISSRET Gl 77 i oo i | N <6 ool 2 NBMKA" p T |10/
e Vi e - of maaa o
¥ 1 ] 1 s 1 1 VI @iy ireesdinaw || 1 5! =i
gy il = o] | ieimiy] B o [ ]| B LS T
c _-!-lunn.... e 1 1 "
| | | 3 D iexe e e
L el I -
i e = el b
o g s o e _ m =
' 1 ' [ et | 1 i 1 1
iniN|o|oll ixlojmil injmix| | = T rEaa
.-lt..u.. _vlll..:. B .M |||||||||| +
1 ¥ 1 1 ' 1 L DT St ] ] 1 s p
feq(m|~ Miwe| LI eQ § TTIVINe 3 Siafiped |
e e Lo e =
i Ielo|n] gl -] ieipin]er B NI = A e s
.................. 81 i ey R S RT P
| | | m pn ! "6 ()] ral P ' i | (]
.......... : A e n
5 T L 5
! —~
o @ oy 6 oriees »h © .m
- § £
& z




VL e gl T o R

ol IR LNl 16 s

SR IX S 8 [ A W N X R [&

-1 116149 - 1198 = {2745 SR N R

115l% 3% F 5130 Wi (n| -
e Gl R TR L TR X
BNy R sl ENSE U

CEEAEY VICTEY SCREN e %

= quil gt g —-1219 6 — 131316 —121818

elte 1 749 H' 39 111510

6. Subtract. Regroup when needed
Siee B G uEREREE RS R
B Tae O THRR P Ih S LN
4 13 |\ % 8 AR Ti2ps
-1110119 R = 707 el 4 B
248 21415 bl 51219
R R WU
o sR TRl sy e
i AN W (R R 81215 B % 4
=11 1% 4§99 =t Z2 916 — b3 L b f3 —{2]81}I 5
716[M Tlale AR DT
. AN
£ 7:|Sam has 346 dollars. He gives 175 dollars to a charity. ¥l £
How much money does he have left? Show your work. T 1 1 [==115] ;771%
AL <=
£ 8.] Clara has 562 stickers in her collection. She gives 384 stickers " S

to her sister. How many stickers does Clara have left?
Y stickgrs does ColD  Ste \\&s\,\\\\ﬁ\\lﬁcizg$ k

68

% {C)\ Number Sense 3-16
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o | [a]s] v [ Tu]k]
| AZ LIAN
| S92 b Lhsie
Lo o Rl

SERAmEEIL N
= 5tle Rl
Y95 | ]

3. If you need to regroup, write “regrou

write “OK.” Then find the answer.

414
a) A regroup
e 4 is less than 9
35
%19
d) LA 0
- 18
T
?Ig\ 0
9) 8 gg(‘QuF
- 29
55
O I
i) 12 :
v s
[, [/
g ””;’ A
8 m) 4 (o
o L1 \ 3 I
E 3210
3 P) 88 q (0
41 \
37

b)

h)

k)

o | loldl o [ Jel6l o [¢s]
ENAREY LRI S, 5|
-39 |-]2]8| -|3|7]
[ [4]7] [Hia] [ [2]3]

m | 4]/ i 3/%‘ n | (2o

AR B IASAN
N 6 . 9 17 15
1216 kS o) 1715

77
=096

OK

al

66
— 54

)%

AN

26
- 15

oH

a\0
88

p" in the blank. If you don't need to regroup,

f) 84

Y\
1) Sﬂ}

9 W

r) 79

Number Sense 4-17
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0 Asnon Tanwacy 70 0B

3. Write in expanded form using numerals only. Then subtract.

a) 46 = 40 + 6 b) 9B =090+5 0 37 =30+ F
SRR -62 = (Ot -0 =0+ |
=0 4 = 30+ 4 BT
e =327 - 2%
g B Eh+ S Ve oa A0 0O 1 ose 260
20 =20t0 Lo i Y — 4 =4yt
— N0+ B =0+H =10t1t7
4. Subtract the ones digits, then the tens digits.
a) 2 RN b) 4 8 ) S d) 4 9 e) 8
it 5 - 2 7 ¢ 5 g - 4 5 - 5 3
16 g ) | & O H 34
You can subtract 3-digit numbers by lining up the digits.
Example: 256 — 124 RS LT -
Write hundreds under hundreds. Write tens under tens. g 3 2 %
Write ones under ones.
Subtract ones. Subtract tens. Subtract hundreds. L 2
5. Subtract. Start in the ones place.
a) 712149 |b) 89|50 512|4]d 3/9|8
-13/16 —-12|5|4 41011 -{1]6|3
513 G| MRE U35
e) 524 3 1T) 915|819 4 4 h) 3718
—1311}0 - 14123 2054841 ~d L6 1 b
QUL |3 5{51T AR |5 O |+
62 Number Sense 3-14
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4. Subtract, regrouping 1 hundred as 10 tens.

Ty K
”V} j;&ﬂ/ g 2083

S o B D AR W B
LS IRV IS T NSRS
11lel2] shedy s b6 he e
BE AL 11311 3|7]4]
Yu subtracts 854 — 367 by following these steps:
Step 1 Step 2 Step 3 Step 4 Step 5
/ 14 14 14
4 14 4 14 7 A 14 7 A 14 7 A 14
8BA 8 BK BEH BEHX BEH
— 36 1 - 3681 - 3617 367 - 88 7
7 7 8 7 4 87
5. Subtract, regrchuping twice. |7 19 14
@B e el D e HRla 9 Z¥ 14
SRR R Ww |2 (BN
< HORd BUE i 9 6 - | e IR
a2 W2 {/‘Q ik 777
e) 4 51117? f) 3 @? e ¢ oo 4a a?é 19\
X |_[¥ LSRR ARV 6% A A
—3188 - {61416 — b —2"158‘
=5 [aEld [dFe BRI
\
b eds 0 W B e O BB
R |% AR LS Bl e
3 g e e S e e b TR 2 38
o 3 BEE S iscl e MG
6. Subtract, regrouping 1 thousand as 10 hundreds. §
a) "N b) 4 16 B e
¥laie|s LIAREAE Saatial
Lonh4 B3 ol B S 7 ] S I e D U %
31508 3 21918 AlZB| 16| g

44

' CA 4.1 AP Unit 2 NS11-20 p27-49 V8.indd 44

Number Sense 4-17

2018-05-30 11:22:29 AM

—_—



WhY B Rl U A TR
Kol el 10 iNgil0} Lo NQiL0} L0 10!
ENARAN SUENA N ENRRR SO
— FA8 — 8|6 — 7 [ — 203
Ohe 18 CIER L g S ol 712

b) Subtract from 99 without regrouping.

i) A B ii) i) e iv) B

il 3 ] 8 =18 116 el 2 “ie2aaiad
6| 1 713 L F 0
£ ¢) | How do your answers to part a) and part b) compare? Why is this the case?
To subtract from 100 or 1000, first subtract from 99 or 999. Then add 1.
gg—=2addl _ 400 999 —2991 o 4000
27 - 27 — 346 — 346
Ty s pas 290 0
%u 2. Subtract by using 99 or 999.
e a) 100-28 b) 1000 — 247 £0)]1000 - 762
£ gul=o g &g ilig £ d) | 1000 — 84
=
% — 2 i 8 2 G| R T
g R a gl A5 BONUS »
'§ so 100 — 28 = 7<Q so1000—247=755 g’ 10 000 — 8290
Number Sense 4-19 47
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3. Subtract by writing the number of tens and ones in each number.

a)  36-30+6 b s PO+Y
_ %2944 _ 5= 50+ X
O =Dl

=12 _3d
Y e +D ©  %_40+6
L dp vl _2a= Q0414

4. Subtract the number by subtracting the digits.

| &“ e h
DO 4/" “”“q[ \)Ez:mu&(w\) g )(D\O &3_

0 98=90+3
~- 37=0+F
=00+1
-
D g g0 +8
X e B

B g e N Bl e ey el 8 9
o> 3 TR R A L e ) w0
=] Z3 B =28 5% 49q

5. a) Draw a picture of 543 using hundreds, tens, and ones blocks.
Show how you would subtract 543 — 421.

=

== 0

b) Now subtract 543 — 421 by lining up the digits and subtracting. De yeu get the

same answer?
S aiiow

6. Subtract
a) 7.5 39 b) 5 3 5 6
Ll Sge g L e B
gk A 6 A

COPYRIGHT © 2018 JUMP MATH: NOT TO BE COPIED.
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Lewis collected 75 books for charity and Emmg collected 18 books.

About how many did they collect altogether? —Th@y hC& /e q 3 b p O% S

{ / @ Class 4A collected 287 books and class 4B collec]tre\d }IQ gggks for charity.
| T (
3 (f// 3 a) About how many books did 4A and 4B collect altogether? 76 '5
g f Z b) Is your estimate higher or lower than the actual answer? How do you know?

5 M/f-:__i_,,_‘;g was lower then Lhe Beloa\ answoe L
) §\‘§ A store has the following items for sale:

R &
| @ fo

Sofa $472 Armchair $227 Table $189 - Desk $382 Lamp $112

What could you buy if you had $800 to spend? Estimate to find out.
Then add the actual prices to check your estimate.

ﬁAnsel estimates 432 + 512 as 400 + S00-g00. |y L 4 === q H a”i

S\L\Ll ==
a) Calculate the actual sum. ! U g 9\ e

b) Is Ansel's estimate higher or lower than the actual sum?
Why does this make sense? :

4’

Tess adds numbers. Use estimation to decide whether her answers are reasonable.
a) 378 + 463 = 1021 b) 3516 + 4209 = 7725 C) 2435 + 3351 = 4786

10. Round the number to each place value.

Tens Hundreds Thousands
a) | 3485 / / 2
b) | 8502 sl b N
BONUS » 9697 :f,, : c; -t

. |BONUS b Write every number that fits all three statements.

When rounded to the nearest ten, it is 6500.
When rounded to the nearest hundred, it is 6500.
When rounded to the nearest thousand, it is 6000.

2000
A2

L8,
AAAJ

BONUS » The estimated difference between two numbers is 400.
What might the original numbers be?

COPYRIGHT © 2018 JUMP MATH: NOT TO BE COPIED.
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000,
A2

£6.|Sandy has 243 marbles. Tony has 178 marbles. jy " 4 } \
/a) How many marbles do they have in total? ’W\Q\/ }\‘EO\\K 4Q/ Q( o
b) How do you know that Sandy has more marbles than Tony? , A‘d ' : ’

)(/
. /

¢) How many more marbles does Sandy have? Show your work. 45 B

00n
€6¢
~

E7. |Find the mistake in Glen s work. J
&

........................

O Y ey
[~
2
7

...............

| B NERE

.w.

a5

:8.] A ferry between Prince Edward Island and Nova Scotia holds 200 cars. +— &
By 8:00 a.m., 73 cars arrive. By 9:00 a.m., 84 more cars arrive.’ ' j/
10}

a) How many cars in total arrive by 9:00 a.m.?_ZS? ‘ @

b) How many more cars can be loaded before the ferry is full? 4 5

£9.|Place the numbers |, 2, 3, 4, 5, 6 in the top six boxes B36
to make the largest possible sum. +4.a 1
4517
2104 Place the numbers 1, 2, 3, 4 in the top four boxes 24
to make the largest possible difference. -9
R R
: £ll. |Here are the maximum depths of the Great Lakes.
% a) Write the depths in order from least Maximum Depths of the Great Lakes
e e i e kst Lake Superior 406 m L/Oé m
‘ v b) How much deeper is Lake Superior Lake N Biaan 28 m Y
W iE than Lake Michigan? e - a?“ !
, : Lake Huron »229m ’1\ 9\ ,Z/h]
\ﬁ \9\5 .¢) How much deeper is Lake Huron than X 2.9 M
° b L5te Eric? 5}\(\ v Er Lake Erie & 64m - ;éL/ .
‘ 2 5% ¢. |Lake Ontari 264 ¢
: {t e € @,Y\ ¥, L€, ake Ontario m-4
e 5 ié
— |

Number Sense 3-17 71



'NS3-17 Problems and Puzzles

/

.| Tasha has 12 pencil crayons. 8 are at home and

gTakakkaw Falls in British Columbia is 302 m tall.

the rest are at school.

a) How many pencil crayons are at school?

b) How did you solve the problem? (Did you use a calculation?
Make a model? Draw a picture?)

The Canadian Horseshoe Falls in Ontario
is 57 m tall.

a) Which waterfall is taller? How do you know?
b) How much taller is the taller waterfall?

0000
A\A A A7

Rani wants to add the numbers. She starts by adding the

ones digits. Explain why Rani wrote the number | above the 3.

-------------------------------------

ai i EP\um Pon TM cUL A R

-------------------------------------

3 15 ? %}{‘ 2 }{' COMSe 367

‘ o he she Con
uPU& M in one D@\)Cﬁ" it 4 o
14 [ Hhe answer She ““\’ i

4c (e ﬂ‘] H«(, o\ﬁi;‘\h %”m\ N\ C

2000
Tee e

Find the mlstc';ke‘ "B

Jin has 17 books. Tina has 35 books.

~ b) How many books do they have altogether?

a) How many more books does Tina have than Jin?

Tm N Ho&% 1% ot ,ff«’vfp J‘J}m :Th

Number Sense 3-17
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NS4-18 Subtraction Strategies

1. Subtract mentally.
agahe HfE U uppoen B T8 D Nyt Ll Bk ey o LR
ey asg B B Z H evroz- 8 g 904 %’9\ ) 679 7= 6Z5
i) 1928 -5= 943 j) 1250 —4= 256 k) 075

2. Subtract the ones, then subtract the rest.
9

Miles gadp - g DN Ll o

8 T dm't

b} 53 668 thg at o !

d) 65 —-7=65— - = o M

e) 103 —6=103 — = . i 3
f) 245 — 9 =245 £ L e -

3. Subtract mentally. :
Eos . g b) 31 —3= 0% o) 42-4=_ 2% 4 e6-6= 59
e} 58 — 9=l gih) el B g 5-7=_858 h) 84 —5=_7q

4. Subtract 9 by subtracting 10, and then adding 1.

) 42-9=(42—_10 )+1=_32 4+1=_33

579 M6 10 )inel L owqn (,mtjf
ch64-9=(64- _ )+1= P i de
-0 1= e .)
B ay-o-61- | - Jg ' h‘ﬂOW
fi o-(95- ok e

g oW 1= h) 26 -9= e

. Subtract mentally.

a)dég. 2 b) 76 -9=G 7 ¢ 57-9 A0 d) 52A9—%
e) 610955 1 s0-9= £ B3tg - L} hy 24—9=_5
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6. Subtract 8 by subtracting 10, and then adding 2.

Hy g0 8 H'”

h 14-8-_©

a) 42-8=(42-_10 Y+2= 32 +2= 34
b) 57-8=(57—_10 )+2= o N \ QJ :
S L R \O N
d)h96 - 8 - (96 _ S e S i
e) 23 -8= f) 84 _-8= +2
7. Subtract mentally.
L s 87y 75—8:_é__ e el U1
TonE kel Biat Bl e,
\
8. Subtract 19 by subtracting 20, and then adding 1.
a) 42—19:(42—__20_)+1: 2 +1=_23
b) 57-19=(57—_20 )+1= +1= g \
c) 64—-19=064—__  )+1= S ) df} P-
d) 8—19=(73-__ )+1= +1= e
e) 95— 19 = (95 — + )
f) 281 -19= - ) 326 - 19= + =
9. Subtract by rounding up, and then adding 1 or 2.
a) 62 —49 = (62 — 1 IR0 S
b) 57 — 28 = (57 — 2 +O@ s
c) 64 —38=(64 — - =
d) 73-59=(73 - - =
e) 281 —29 = (281 — - =
f) 95— 78 = (95 — T =

2000
TV

£11.] Josh is reading a book that is 214 pages long. He re?ds 9 pages each ni
How many pages will he have left after 3 nights?

% 3} Ronin has 34 stickers. He bought 48 more stickers for his sticker collection. He gave
39 stickers to his brother. How many stickers does he have now? J; h oS LI 3 /(,4 %

ght

£12.] 264 students are going to travel by bus-on a school trip. Each bus holds 98 students.
If the first two buses are full, how many students are on the third bus? G 8 Sluden \«;

pé\)t’) (“JA“‘

‘.
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